Chapter 5   Accounting for and Presentation of Current Assets

Solutions to Odd-Numbered Problems

	CHAPTER 5
	
	Accounting for and Presentation of Current Assets




	E5.7.  
	
	
	
	
	

	
	Balance per bank…………
	$373
	
	Balance per books………………….
	$844

	
	Add: Deposit in transit…..
	  450
	
	Less: NSF check…………………...
	(75)

	
	Less: Outstanding checks
	
	
	Error in recording check
	

	
	  ($13 + $50)……………..
	      (63)
	
	  (as $56 instead of $65)…………...
	   (9)

	
	Reconciled balance………
	$760
	
	Reconciled balance………………..
	$760


	E5.9.  
	

	a.
	                             Balance Sheet                                                 Income Statement             .                       

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses
Accounts    Accounts                                                                                                        

Receivable  Payable                                                                                                        

+75              -9                                                                                                       

Cash                                                                                                                                                                                 -84                                                                                                                        

Dr.   Accounts Receivable (for NSF check)



         75

Dr.   Accounts Payable





           9

       Cr.   Cash







                      84



	b.
	The cash amount to be shown on the balance sheet is the $760 reconciled amount. 


	E5.11.  
	

	
	                                               Allowance for Bad Debts  

	
	  Bad debt write-offs                                   1/1/13 balance

…        $13,400                            

     (from 1/1 to 11/30)

……     ?      Bad debt expense 

                                                                       (from 1/1 to 11/30)
…          21,462                                                                                            

                                                                    11/30/13 balance
…………        $  9,763      

  Adjustment required (12/31/13)..      ?                                                                       
                                                                    12/31/13 balance

…        $  9,500              


	a.
	Solution approach: The bad debt write-offs from January through November can be determined by subtracting the November 30 balance from the total of the beginning balance and the bad debts expense recognized for the first 11 months.

Bad debt write-offs = $13,400 + $21,462 - $9,763 = $25,099

	
	

	E5.11.
b.
	(continued)
The adjustment required at December 31, 2013 can be determined by comparing the November 30 balance in the allowance account to the desired ending balance.

Bad debt expense adjustment = $9,763 - $9,500 = $263

                             Balance Sheet                                                Income Statement           .                       

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses
Allowance               (Note: A decrease in an expense increases net              Bad Debts 

for Bad Debts           income, and a decrease in a contra-asset account        Expense

+263                         increases total assets.)                                                   +263

Dr.   Allowance for Bad Debts




       263

       Cr.   Bad Debts Expense





                      263

To adjust the allowance account to the appropriate balance, and to correct the 

overstatement of expense recorded in the January through November period. 

	
	

	c.
	The write-off will not have any effect on 2013 net income, because the write-off decreases both the accounts receivable asset and the allowance account contra-asset for equal amounts.  Net income was affected when the bad debt expense was recognized.  


	E5.13.  
	

	a.
	2% * $340,000,000 * 90% = $6,120,000, or $6.12 million.

	
	

	b.
	By paying within 10 days instead of 30 days, the customers are "investing" funds for 20 days, and receiving slightly more than a 2 percent return on their investment (for a $100 obligation, the return is $2 on an investment of $98).  But ROI is expressed as an annual percentage rate, and there are slightly more than 18 twenty‑day periods in a year.  Thus the annual ROI is a little greater than 36 percent.  (See Business in Practice—Cash Discounts.)


	E5.15.  
	

	a.
	        |               4.5 months                   |                   5.5 months                      |                        

      6/15                                            10/31                                                    4/15

(date of note)                                (year-end)                                         (maturity date)
Interest earned = $4,500 * 13.8% * 4.5/12 = $232.88

	
	                             Balance Sheet                                                 Income Statement           .                       

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses
Interest                                                                                         Interest                                             Receivable                                                                                   Revenue

+232.88                                                                                       +232.88

Dr.   Interest Receivable





       232.88

       Cr.   Interest Revenue





                      232.88

To accrue interest earned on a short-term note.

	E5.15.
b.
	(continued)
Solution approach:  What accounts are affected, and how are they affected?  Cash is being received for note principal and 10 month's interest.  Notes receivable is reduced because the note is being paid off.  Interest receivable accrued at 10/31 is being collected.  Interest revenue for 5.5 months from 11/1 to 4/15 has been earned.

 

	
	                            Balance Sheet                                                  Income Statement           .                       

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses

	
	Cash                                                                                             Interest       

+5,017.50                                                                                     Revenue       

Note Receivable                                                                           +284.62

-4,500 

Interest Receivable

-232.88

	
	Dr.   Cash ($4,500 + ($4,500 * 13.8% * 10/12))


    5,017.50

       Cr.   Note Receivable





                     4,500.00

       Cr.   Interest Receivable (accrued at 10/31)


                        232.88 

       Cr.   Interest Revenue ($4,500 * 13.8% * 5.5 /12)

                        284.62

To record the collection of principal and interest at the maturity date of a 

short-term note (for which some interest had been previously accrued).


	E5.17. 
	

	a.
	Under LIFO, the cost of the most recent purchases are released to cost of goods sold.  If the purchase cost of inventory items is changing, the selling price of these same items is likely to be changing in the same direction.  Thus, releasing the most recent purchase costs to the Cost of Goods Sold account results in better matching of revenue and expense. 

	
	

	b.
	During periods of rising prices, LIFO results in a balance sheet valuation that is lower than current cost.  This is considered consistent with the “original cost” concept usually used to record asset values.  However, it understates the “value” of inventory items because it does not reflect the current cost of inventory items.  The ending inventory under FIFO more accurately reflects the value of inventory items.


	E5.19.
	

	a.
	                            Balance Sheet                                               Income Statement             .                       

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses

	
	Prepaid 

Insurance

+3,000

Cash                                                                                                                                             

-3,000                                                                                                                                        
March 1  
Dr.   Prepaid Insurance





       3,000

       Cr.   Cash






………                      3,000

To record the payment of a one-year insurance premium. 

	
	

	b.
	                           Balance Sheet                                                Income Statement             .                       

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses

	
	Prepaid                                                                                                            Insurance

Insurance                                                                                                         Expense

-250                                                                                                                 -250

Each month‑end:  

Dr.   Insurance Expense





         250

       Cr.   Prepaid Insurance





                        250

To record the expiration of prepaid insurance each month.



	c.
	At August 31, 6 months of insurance coverage has been used, and 6 months is still to be used.  Thus, half of the original premium of $3,000, or $1,500, is prepaid and will be shown on the August 31 balance sheet as a current asset. 

	
	

	d.
	The prepaid amount is $4,500 for 18 months of coverage.  Only $3,000 of this amount is a current asset, because of the one‑year time frame for current assets.  Thus, $1,500 of the prepaid amount is technically a noncurrent asset.

	e.
	Accounting for prepaid expenses achieves a better matching of revenues and expenses and yields a more meaningful measure of net income.  Although the expenditure of cash has been made, the item relates to the earning of revenue in a subsequent accounting period.


	E5.21.
b.

c.

d.

e.

f.

g.


	                                                                Current      Current   Stockholders'     Net

                                                                 Assets       Liabilities      Equity        Income

Determined that the Allowance              Allowance for                                    Bad Debts

for Bad Debts balance should be            Bad Debts                                          Expense

increased by $2,200.                               -2,200                                                -2,200 

Recognized bank service charges           Cash                                                   Service

of $30 for the month.                              -30                                                      Charge Exp

                                                                                                                            -30

Received $25 cash for interest                Cash

receivable that had been accrued            +25

in a prior month.                                      Interest

                                                                 Receivable 

                                                                 -25

Purchased five units of a new                 Inventory   Accounts  

item of inventory on account at              +175           Payable

a cost of $35 each.                                                     +175

Purchased 10 more units of the               Inventory   Accounts 

above item at a cost of $38 each.             +380          Payable *

                                                                                   +380

* Could also be recorded as: Cash -380 under the current assets category.

Sold eight of the items purchased           Inventory                                             Cost of 

(in e and f above), and recognized          -289                                                     Goods Sold

the cost of goods sold using the FIFO    (5 units @ $35,                                    -289

cost flow assumption.                             3 units @ $38)


	E5.23. 
	

	b.

c.

d.

e.

f.

g.

h.


	                                                                Current     Current   Stockholders'    Net

                                                                 Assets     Liabilities      Equity        Income

Recorded estimated bad debts in            Allowance for                                  Bad Debts

the amount of $700.                                Bad Debts                                        Expense  
                                                                -700                                                  -700
Wrote off an overdue account                 Accounts Receivable

receivable of $520.                                  -520

                                                                 Allowance for                 (Net realizable value
                                                                 Doubtful Accounts          of accounts receivable
                                                                 +520                                is not affected.)
Converted a customer’s $1,200               Notes

overdue account receivable into              Receivable

a note.                                                      +1,200

                                                                 Accounts 

                                                                 Receivable

  




     -1,200

Accrued $48 of interest earned on           Interest                                             Interest  

the note (in d above). 
                             Receivable                                        Revenue

 



                 +48                                                   +48

Collected the accrued interest                 Cash 

(in e above).                                            +48

                                                                 Interest 

                                       
                 Receivable

 



                 -48

Recorded $4,000 of sales, 80%               Cash



   Sales

of which were on account.                      +800



   +4,000

                                               

     Accounts

                                                                 Receivable

                                                                 +3,200

Recognized cost of goods sold                Inventory                                         Cost of 

in the amount of $3,200.                         -3,200                                               Goods Sold

  







  
              -3,200


	P5.25.
	

	a.

b.
	Solution approach: Set up a bank reconciliation in the usual format, enter the known information, and then work backwards to solve for the beginning balances in the company’s Cash account and on the bank statement (these are referred to as the “Indicated balance” amounts in Exhibit 5-2 in the text). 
Indicated balance (per bank)
   $    ?            Indicated balance (per books)
    $   ?

Add: Deposits in transit……..      2,100        Add: Check recording error…           90

Less: Outstanding checks…...     (3,000)       Less: NSF check…………….       (400)

                                                                       Bank service charge………....         (50)
Reconciled balance

    $4,800        Reconciled balance

    $4,800

Key: To solve for the beginning (i.e., indicated) balances, the effects of reconciling items must be reversed out of the known ending (i.e., reconciled) balances.

Balance per Cash account before reconciliation = $4,800 - 90 + 400 + 50 = $5,160
Balance per bank before reconciliation = $4,800 - 2,100 + 3,000 = $5,700


	P5.27.
	

	
	                                                Allowance for Bad Debts 

	a.
	  Bad debt write-offs                                     12/31/13 balance

    17,900    

     (during the year). . . . . . . .     11,800        Bad debt expense

        ?       

                                                                      12/31/14 balance

      9,500 

    Bad debt expense = $11,800 - $17,900 + $9,500 = $3,400

	b.
	1.  Working capital would not be affected because the write-off entry decreases both the  

     accounts receivable asset and the allowance account contra-asset by equal amounts. 

	
	

	
	                             Balance Sheet                                                Income Statement            .    

Assets   =   Liabilities   +  Stockholders’ Equity ( Net income  = Revenues  - Expenses
Accounts         

Receivable       

-3,100

Allowance     

for Bad Debts    

+3,100                  

Dr.   Allowance for Bad Debts




       3,100

       Cr.   Accounts Receivable




                      3,100

To write off a past due account as uncollectible.

	
	

	P5.27.
b.
c.
	(continued)
 2.  Net income would not be affected by the write-off entry because it does not adjust any  

      expense or revenue accounts.  ROI would not be affected because net income and total 

      assets are not changed.

Sales were probably lower in 2014 because the accounts receivable balance has decreased during the year—but this cannot be determined for sure without information about the cash collections of accounts receivable.


	P5.29.
	

	
	Solution approach: Net realizable value = Accounts receivable - Allowance for bad debts.  The balance sheet presentation of this information at December 31, 2014 (ending balances) is provided with the problem information.  Your task is to work backwards to determine the balances in these accounts at December 31, 2013 (beginning balances).

	
	

	
	                                           Accounts Receivable  

	
	
12/31/13 balance

         ?            Cash collections

      410,000 

Sales on account

    400,000      Accounts written off
………        15,000

12/31/14 balance

      50,000 

December 31, 2013 balance = $410,000 + $15,000 - $400,000 + $50,000 = $75,000.  This makes sense because the credits to accounts receivable during the year for cash collections and write-offs exceeded the debit for sales on account.  

	
	

	
	                                             Allowance for Bad Debts

	
	 Bad debt write-offs                                   12/31/13 balance

……….            ?

(During the year)

   15,000     Bad debt expense

……….       12,000                                                                                      

                                                                   12/31/14 balance

……….         7,000
December 31, 2013 balance = $7,000 + $15,000 - $12,000 = $10,000.  This makes sense because Carr Co. wrote-off more accounts during the year than it added to the allowance account with the bad debts expense adjustment.  

At December 31, 2013:              
Accounts receivable 





………   $75,000

Less: Allowance for bad debts




   (10,000)     $65,000


	P5.31.
	

	a.
	Ending inventory calculations:      
                                           --------- FIFO ----------                ---------- LIFO ----------

Blowers

  10 of 11/7 @ $400 = $ 4,000       10 of 1/21 @ $400 = $  4,000
Mowers

  20 of 9/20 @ $420 = $  8,400       20 of 4/6 @ $420 =  $  8,400

                                      5 of 8/15 @ $430 =       2,150       5 of 5/22 @ $430 =      2,150
                                                                          $10,550                                        $10,550
Analysis of results: In this problem, there is no difference between the ending inventories amounts under FIFO and LIFO; thus there won't be any difference between cost of goods sold under either alternative.  Why isn’t ending inventory affected by the inventory cost flow assumption used?  Look carefully at the cost per unit of inventory items purchased during the year.  Notice that the cost per unit of the blowers purchased on January 21 and November 7 were the same ($400).  Likewise, the cost per unit of the mowers purchased on April 8 and September 20 were the same ($420).  The mowers purchased on May 22 and August 15 also had the same cost per unit ($430).  These unit costs were carefully selected to demonstrate that the differences between FIFO and LIFO are minimized, or possibly eliminated altogether, when prices rise and fall throughout the year.

	
	

	b.
	LIFO is probably being used because the higher cost of the most recent (last‑in) purchase will become part of cost of goods sold, thus decreasing the company’s profits and income tax obligation.  



	P5.33.
	

	a.
	Solution approach:  Calculate goods available for sale in units and dollars, and ending                     inventory in units.  These amounts are the same for both FIFO and LIFO under either a                     periodic or a perpetual inventory system. 

Beginning inventory




………     150 @ $30 =  $ 4,500

Purchases






       70 @   33 =     2,310 

                                                                                                       90 @   35 =     3,150 

                                                                                                     140 @   36 =     5,040

                                                                                                       50 @   38 =     1,900
Goods available for sale 



………     500                $16,900
Sales







    (300)             

Ending inventory





     200 units

FIFO periodic cost of goods sold 


………     150 @ $30 = $  4,500

                                                                                                       70 @   33 =     2,310

                                                                                                       80 @   35 =     2,800
                                                                                                                           $  9,610

FIFO periodic ending inventory


………       10 @ $35 = $     350

                                                                                                     140 @   36 =     5,040

                                                                                                       50 @   38 =     1,900
                                                                                                                           $  7,290
                                                                                                                           $16,900
LIFO periodic cost of goods sold


………      50 @ $38 =   $ 1,900

                                                                                                    140 @   36 =      5,040

                                                                                                      90 @   35 =      3,150 

                                                                                                      20 @   33 =         660
                                                                                                                           $10,750

LIFO periodic ending inventory


………   150 @ $30 =   $  4,500

                                                                                                     50 @   33 =       1,650
                                                                                                                           $  6,150
                                                                                                                           $16,900



	
	

	P5.33.
	(continued)

	b.
	FIFO perpetual cost of goods sold

………  2/22 sale 100 @ $30 =  $ 3,000

                                                                                       6/11 sale  50 @   30 =     1,500

                                                                                                        50 @   33 =     1,650

                                                                                        12/4 sale  20 @   33 =       660

                                                                                                        80 @   35 =    2,800
                                                                                                                            $ 9,610

FIFO perpetual ending inventory


                         10 @ $35 = $    350

                                                                                                      140 @   36 =    5,040

                                                                                                        50 @   38 =    1,900
                                                                                                                            $ 7,290
                                                                                                                           $16,900

	
	

	
	LIFO perpetual cost of goods sold

………     2/22 sale 70 @ $33 = $ 2,310

                                                                                                        30 @   30 =       900

                                                                                       6/11 sale 100 @   36 =     3,600

                                                                                        12/4 sale  50 @   38 =     1,900

                                                                                                        40 @   36 =    1,440

                                                                                                        10 @   35 =       350
                                                                                                                           $10,500

LIFO perpetual ending inventory


                  120 @ $30 = $ 3,600

                                                                                                        80 @   35 =    2,800
                                                                                                                            $ 6,400 

                                                                                                                           $16,900

	
	

	c.
	Under FIFO, the periodic and perpetual inventory systems always result in the same dollar amounts being assigned to ending inventory and cost of goods sold—once first-in, always first-in—and the timing of the application of the FIFO rules makes no difference. Under LIFO, the “last-in cost” changes each time another inventory item is purchased. Thus, the timing of the application of the LIFO rules is relevant, and different results will occur under the periodic and perpetual systems.  These relationships are discussed in the Business in Practice—The Perpetual Inventory System.


	P5.35.
	

	
	                          Inventory                                            Cost of Goods Sold       

	a.

b.
	     Balance is                     Credit to                Debit to correct     

     $5,000 too high            correct error           inventory error

To correct the overstatement, inventory should be reduced (credited) $5,000, and cost of goods sold should be increased (debited) $5,000.  If the error is not corrected, cost of goods sold will be understated (too low) and net income will be overstated (too high). 

If ending inventory were understated (too low) cost of goods sold would be overstated (too high) and net income would be understated (too low). 
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